A~

Mpd{b Tel: (905) 820-6150 Toll Free: 1-800-363-1588
W Fax: (905) 820-6142 www.techspan.ca
re.

MEDIUM DUTY TOGGLES (Cont.)

Fig. 1 Fig. 5

Fig. 6 Fig. 8
Retail Bulk Figure Circui Poles/ | AMPS AMPS |HP 125- | Actuator | Actuator Bushing Mounting inal Hardware
Part No. Part No. No. Fi Throws| 125VAC | 250VAC | 250VAC | Style Material Length Hole Type

35-854 | 35-854-BU 1 Off 8 Black Plastic b I WL !
35-1076 | 35-1076-BU 2 Off (On) | SPST 6 3 1/4 Bat Metal 0.465" 0.500" Screw [N, KN, FN, Sc -11B
35-1114 | 35-1114-BU 2 On On | SPDT 6 3 1/4 Bat Metal 0.465" 0.500" Screw N, KN, FN, Sc -11B
35-1116 | 35-1116-BU 2 On (On) | SPDT 6 3 1/4 Bat Brass 0.465" 0.500" Screw [N, KN, FN, Sc -11B
35-3035 | 35-3035-BU 3 On Off | SPST 6 3 Bat Brass 0.325" 0.500" Screw 2N -11C
35-119 | 35-119-BU 4 On Off | SPST 10 5 12 Bat Metal 0.500" 0.500" QC .250" N, KN -11D
35-120 | 35-120-BU 4 On On | SPDT 10 5 12 Bat Metal 0.500" 0.500" QC .250" N, KN 11D
35-180 | 35-180-BU 5 On Off | SPST 10 5 12 Paddle | Black Plastic 0.280" 0.500" |QC.250"/Sd| FN, NN 11E
35-182 | 35-182-BU 5 On On | SPDT 10 5 12 Paddle | Black Plastic 0.280" 0.500" |QC.250"/Sd| FN,NN H1E
35-184 | 35-184-BU 5 On | Off | On | SPDT 10 5 12 Paddle | Black Plastic 0.280" 0.500" |QC.250"/Sd| FN,NN H11E
35-3050 | 35-3050-BU 6 On Off | SPST 10 4 13 Bat Brass 0.325" 0.500" WL 2N -11F
35-112 | 35-112-BU 7 On Off | DPST 15 10 Bat Metal 0.468" 0.500" Solder N, KN 116G
35-152 | 35-152-BU 7 On On | DPDT 15 10 Bat Metal 0.468" 0.500" Solder N, KN 116G
35-3127 | 35-3127-BU | 11 | (On) | Off |[(On)t| DPDT 15 10 12 Bat Metal 0.465" 0.500" QC .250" FN,N -11H
35-3153 | 35-3153-BU 8 (On) | Off | (On) | SPDT 15 10 3/4 Paddle | Black Nylon 0.379" 0.500" QC .250" FN, NN =111
35-3169 | 35-3169-BU 9 (On) | Off | (On) | SPDT 15 10 3/4 Paddle | Black Nylon 0.379" 0.500" Screw FN, NN, Sc -11J

[35-178 | 35-178-BU 10 On Off | SPST 20 20 ** Paddle | Black Plastic 0.342" 0.500" |QC.250"/Sd| N,BFN 11K
35-3009 | 35-3009-BU 5 On Off | SPST 20 10 1-1/2 | Paddle | Black Nylon 0.280" 0.500" | QC.250"/Sd KN H1E
35-3150 | 35-3150-BU 8 On | Off | On | SPDT 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" QC .250" FN, NN =111
35-3154 | 35-3154-BU 8 On Off | DPST 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" QC .250" FN, NN 111
35-3156 | 35-3156-BU 8 On On | DPDT 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" QC .250" FN, NN =111

'35-3158 | 35-3158-BU 8 On | Off | On | DPDT 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" QC .250" FN, NN =111
35-3160 | 35-3160-BU 9 On Off | SPST 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" Screw FN, NN, Sc —11J
35-3162 | 35-3162-BU 9 On On | SPDT 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" Screw FN, NN, Sc -11J
35-3164 | 35-3164-BU 9 On Off | DPST 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" Screw FN, NN, Sc -11J
35-3166 | 35-3166-BU 9 On On | DPDT 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" Screw FN, NN, Sc -11J
35-3168 | 35-3168-BU 9 On | Off | On | DPDT 20* 1-1/2 | Paddle | Black Nylon 0.379" 0.500" Screw FN, NN, Sc -11J

Notes: (On) = Momentary On NN = Nickel Nut

*Rated 20A @ 125-277VAC N = Nut(s)

BFN = Brass Face Nut QC = Quick Connect

FN = Face Nut Sc = Screw

HP = Horse Power Sd = Solder

ID = ID Plate WL = Wire Lead

KN = Knurled Nut 1 = Reversing Toggle

**=1/2 HP@125V, 1 HP@250V

Note: All figures are for illustration purpose only, and the number/type of terminals may vary.

All quantities are single; BU’s are packages of 25 Unless otherwise noted.



Fatape

G/l Tel: (905) 820-6150 Toll Free: 1-800-363-1588

Tndustsizs  Fax: (905) 820-6142 www.techspan.ca
Tre.

MEDIUM DUTY TOGGLES (Cont.)

6.1
(0.341)

E

37
{0:342) ‘
o 4
4
. oo
151
{0.584)
L-—d

Dimensional Specifications:
SEEBNGIA
TREAD |

KEYWAY
ara[1 82

f

46a{14.81]

X -
038965] DF

70[i7.02}

[T

sdasg = 1M -
50012701 DA

MOUNTING HOLE

COTETE =
Azs[zH L8 d ‘_ DSH1 40] DA 7
1 —
B saopag | ATH10R awap10.000
Py v | 25306.55] = 1erpa7a) el
SOLDEALUG 250 7TAB (L) 87 TAB 12.C)
TERMINAL TYPE
soac2 ]
AD — = s00[15240) >
T""‘“‘n 11358
smopan Py -
[ a7 K e——
assize) = b
e WIRE LEAD

0621.57]

® D
.nzap. 5511—-—-
WITH KEYWAY

— SEO(12.70] DIA

P
s D
A253.17] O

WITH LOCKING RING

P
16/32-32 TP ELEE-TS §:32 SCR. TERM. 0722 .OIBDP B87(17.44]
GLASS ZA ..]_ ﬁfn‘g) (;473)_.1 821 965 |
o {'J TERMINAL 280’;[?11] -
085 1,045 TYFES 280t
1) 54) 35-119 f
Al - | | BBT|17.44]
562 A326
66 [ze7 Iwed] 36120 |
(16.76) . TERMINALS
frezl [ 11 35-180
35-3009
1 000[25 40)
F G 523 229 TR R
" (1328 (581) —
' STRIP ]
| 5001418 031 ~ E;Q\f[\:ﬂaﬂg‘?
61/ {20158 4(787) — 072
(152.4 IU | 1‘197 038{.965) DP
€3k 1 220 (600 |
{5.0) A95 - 1184
{30.0) 4 } ‘ﬁ'ﬁ ’ (30.07)
871 1 / 2 o
B G (15.77) _ 285
se2 1801% 240 ~—1924 -~ - (7239
980 ~(6.1) (48.86)
X 025
(24 80F ] y
l.x 160 KEYWAY 2.0 (U.UBGV(-{; x wg(u_mm
4 g
4.1
Loz ey
16.25 1553 ™D 4.9

E——

i GBB[14 93

Lt

375(9.52]

TERMINALS

778[19.78]

1.308[33.22]
a a 422[10.72]
= = REVERSING DOUBLE POLE DOUBLE THROW
.750[19.05] POSITION
1 1 3
Reversing Toggle . .2 Ao

J TERMINAL PLACEMENT

~ — N 353169
353162
BAT[17 44] WA
o721 82)
y
= N 355166 ' ose 9651 0F
N — ~ 353168 w83l
i
— | 353164
__ sas1 a7}
1
— N 353160 <2z/1072) [;) L:J
i 4 14113 58] I
aro(s 3] 1 - tasagz e TR0 = -
'

206726 = = &

I 687[17.44]

379[9.63]

T
Yy |G

v
865(21.97] T
250(6.35]
7

15/32-32UNS-2A
THREAD
.075(1.91] DIA —

437[11.08]

422[10.72]

750(19 05

1.375(34.92)

062[157]

5

TERMINALS

93
10.385)




